10P  COVER

- ALUMINUM(UP DOWN)

DATE

SIGN

REVISION

REMARKS

12—BOLT @ M4*7.3(SUS#304) 5—-BOLT : M3.5%19.4(SUS#304) [SPECIFICATION]
3 X _ - 92. _
/ J0. | - SIDE COVER : ALUMINUM(LEFT, RIGHT) 1.OPERATING VOLTAGE : DC 10V ~ 48V
/ ol V>\ | T e @ 2.WATTAGE : 12.0V/17.6W
- =y ) ©® |- B0LT - Mr25(sUsf304) 3.LED : 10W (CREE)
Sl 2—BOLT : M4*15(SUS#304 LUMEN : 1500(LM)
o e e (SUS}304) o 5.LENS : LLO1CR-DG XX L-M2(20'30'40
TH R a; 6.WEIGHT : 1.1 (Kg)
LENS COVER : PC
\\& 5 ® %\VREFLECTOR . PC W « 7.VVIBRATION : 15.6 (Grms)
L9 8.WATER PROOF & DUST RESISTANCE
9. TEMPERATURE : -40 °C ~ 80°C
INSERT BAR : ALUMINUM(UP,DOWN) SIDE TOP COVER : ALUMINUM(LEFT, RIGHT) 10.LIFE : 50,000 (Hr)
1@ [T ® 11.IP RATING : IP68
PACKING : SILICON BLACK
. BRACKET : ALUMINUM
BOLT : M6*60(SUSHA304) T LENGTH
NUT & M6 (SUS£304) POWER LEAD WIRE:¢8.5 MODEL ' (+0/-0.2) NCH
J] 2 LED | 17.6W 117.4(mm) 4.6(in)
4 LED 35W 197(mm) 7.8(in)
RECEPTACLE:DTO4—2P—E004 6 LED | 52.5W 276.6(mm) 10.9(in)
TERMINAL: 1060160122 2 1 ED o 356.2(mm) 14(in)
WEDGE:W2P o
SODY - AL UMINUM 10 LED 36W 435.8(mm) 17.2(in)
12 LED | 104w 515.4(mm) 20.3(in)
14 LED | 120W 595(mm) 23.4(in)
, e 16 LED | 138W 674.6(mm) 26.6(in)
18 LED | 155W 754.2(mm) 29.7(in)
o 20 LED | 172W 833.8(mm) 32.8(in)
— \0&/ /0
e | © SERC 22 LED | 190W 913.4(mm) 36(in)
— / | 20100816 | . oy 993(mm) 39.1(in)
\ %p,:ow” 26 LED | 223w 1072.6(mm) 42 .2(in)
PIPE 918 ALUMINUM UNIT mm DRAWING CHECK APPROVAL ']O\/V X [\/HT"ER PRH\/]E
;gh : 1-1 M.J.PARK TITAL
DATE 2010.06.16  2010.06.16 SINGLE BAR
VISION X ASIA CO.,LTD. G VX-BD-0000-0

VXQF 405-7(Rev.0)

A1(840x594)




